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F | Therp parent function for the graph to the rightis f(x) = - |x|. Alter the equatlon of the
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9. | Write a piecewise function that describes the situation. ) .
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| Foracellular data plan, $50 per month buys 400 minutes. Additional time cost $0.30 peruinute. Let the monthly |
| cost C(x) be the function of the time x. :
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Solve each inequality and graph it’s solution on a number line.
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112. Match the following piecewise functions to their graphs.
Function A = Graph 5 Function B = Graph I Function C = Graph ‘9
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14. | Let x represent one number and let y represent another number. Use the given conditions to write a system of
nonlinear equations. Solve the system and find the numbers.
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15.1 A house that costs $200,000 will appreciate in value by 3% each year.
Using the function, f(x) = 200,000(1.03)*, determine when the hguse will be worth $300,000.
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